1. If a,p and y are the roots of the equanon (x 3)2 (y 4)2

=1
x3-8x+8=0, then Ta? and Z— are 'rm
respectively
(a) 0Oand - 16
(¢c) -16and 0 "
2. x=4(1+cosf)and y =3 (1 +sin0) are the a2 _32
parametric equations of (d) (x 4) .
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. If the distance between the foci and the

distance between the directrices of the
2 2

hyperbolaiz-—%?=1 are in the ratio 3 : 2,
a
thena:bis
(@) v2:1 (b) V3:4/2
(e 1:2 d 2:1
2 2

The ellipse X +Y -1 and the hyperbola
25 16

2 2

X _Y_ _1have in common
25 16

(a) centre only

(b) centre, foci and directrices
(¢c) centre, foci and vertices

(d) centre and vertices only

5.If secBb=m and tan©@=n, then
1 1 4
—|(m+n)+ is
m { (m+ n)}
(a) 2 (b) 2m
(c) 2n (d) mn
6. The value of —
(a) 2
(c) 1
7. If the length of the tan from any point on

8.

9.

the circle (x-3)*+(y + 2)2 =5r% to the
circle (x —3)? + (y + 2)? =r? is 16 unit, then
the area between the two circles in sq unit is

(a) 32n (b) 4n
(c) 8n (d) 256n
The circles ax? + ay? + 2g,x + 2fiy +¢; =0

and bx? + by + 2g,x + 2foy + ¢, =0

(a # 0 and b # 0) cut orthogonally if

(a) g:82 + fify =ac; +bcy

(b) 2(g:8, + fifo) =bey +ac,

(c) bg.g, + afifs =bcy + ac,

(d) .82+ ifa=1 + ¢,

The equation of the common tangent of the
two touching circles,
y2+x2-6x-12y +37=0 and
x2+y2-6y+7=0is

(a) x-y-5=0 (b) x-y +5=0

() x-y-5=0 (d x+y+5=0

Ihigtea

10. The equation of the parabola with vertex =
(-1,1) and focus (2, 1) is

(@) y?-2y -12x-11=0
(b) x%+2x-12y +13=0
(c) y2—2y +12x+11=0
(d) y2-2y -12x+13=0

11. The equation of the line which is tangent ==
both the circle x* + y2 =5 and the parabo:
y?*=40x is

(a) 2x-y+5=0 (b) 2x-y +5=0
(¢ 2x-y-5=0 (d) 2x+y +5=0

12. If 2A+SB=2 =
34 5 §

A+23=l:5 9 3],thenBis
1 6 2

-1 2 1. 2
(a)[ 1 10 —J (b){ 1 10 -1}

1 -2 1 2
(C)L 10 —1] TI‘-(l)[l 10 1J

=2 x 3,0(B)=3x2,
&whlch one of the following =
not defined ?

(a) CB + A’ (b) BAC
(c) C(A+BY (d) C(A+B)
14. If A =B _ﬂ and A% —4A + 10l = A, then ¢
is equal to
(a) 0 (b) -4
(c) 4 and not 1 (d) lor4

X+y y+2 z+X
15. Thevalueof | x y z
xX-y y-2z2 Z-X

(@) 2(x+y+2)? () 2(x+y+2)°
© (x+y+2)° (d 0

16. From an aeroplane flying, vertically above =
horizontal road, the angles of depression o
two consecutive stones on the same side of th=
aeroplane are observed to be 30° and 60
respectively. The height at which the
aeroplane is flying in km is

isequal to




20.

a1,

22,

23.

(a) 64 (b) 4

b

N 4
75 B2 © 8 (@ 32
9 2 24. IfS, = : - : - : + ... ton terms
v < ) = "“6-11 11.16 16.21 :
7 the angles of a triangle are in the ratio then 565'1 e:‘:lua]s
3:4:5, then the sides are in the ratio ) s (B e
2) 2:V6:v3+1 (b) V2:6:3 +1 Sn + 6 (5n +6)
c)2:J§:J_+1 (d) 3:4:5 © S"‘”; (d) 516

cos ! x = a,(0<x<1) and = Sk
ki (2x\/ﬁ)+sec ( J 21:' 25.pr=i+j,q=4f(—jandr=i+ftt.hen_r:he

=1y 2 unit vector in the direction of 3p+ q—-2ris

then tan™!(2 1 i+2j i-2
en tan”'(2x) equals (a) %(i+2j+2f() (b) %(i—ﬁ—Zf‘)

(a) w6 (b) w4

19, :(rc ) 1:;3>I:;>0, thergd) nt:lze value  of © %(i_z‘i +2) @ i+2j+ 2k
tan~} [%J+ tan'][z—iﬂ depends on 26. If 2 and b are the two vectors such that
o i) Band ficta |§'|=3J§,|I—;|=4and|;+§I—ﬁ,menme

(¢) aand not b (d) ne;;her anor b g 1s

Whigh one of the followi ns has n ﬂD) 60°

solution ? (glo 150°

(a) cosec ® —sec = cosec ' = a5
(b) cosecB-sec@=1 27. If the area of the parallelogram with aand bas
(¢) cos O+ sin 0=+2 two adjacent sides is 15 sq unit, then the area

(d) V3 sin6—cos0=2 of the parallelogram having, 3 a+2b and

If A={a,b,c},B={b,c,d} and C ={a, d, c},
then (A -B) x (B nC)is equal to

(@ {(a o), (g, d)}

(b) {(g, b), (c, d)}

(©) {( a), (d, a)}

(d {(q, ), (a, d), (b, d)}

The function f:X—Y defined by
f(x) =sin xis one-one but notonto, if Xand Y
are respectively equal to

(a) RandR

(b) [0, n] and [0, 1]

a+3bastwo adjacent sides in sq unit is
(a) 120 (b) 105
(©) 75 (d) 45

28. The locus of the point which moves such that
the ratio of its distance from two fixed point in
the plane is always a constant k (< 1) is
(a) hyperbola (b) ellipse
(c) straight line (d) circle

29. Ifthelinesx + 3y -9=0,4x + by —2=0and
2x —y —4 =0 are concurrent, then b equals

" (@ -5 (b) 5
(c) [0, E} and[-1,1] (©) 1 (d o
30. The lines represented by ax? + 2hxy + by? =0
(d [_ E} and[-1,1] are perpendicular to each other, if
(@) h*=a+b () a+b=0
If log, 2 + log, 4 + log, x + log, 16 =6, then (& h2=ab @ h=0

value of x is



31. The equatibn of the circle havingx -y - 2=0

32.

33.

34.

and x-y+2=0 as two tangents and
X —y =0as a diameter is

(a) x2+y2+2x—2y+1=0

®) x*+y%-2x+2y-1=0

(@ x*+y%=2

@ x*+y?=1

If the curve y =2x%+ax?+bx+c passes
through the origin and the tangents drawn to
itat x =—1and x = 2 are parallel to the X-axis,
then the values of g, b and c are respectively
(a) 12,-3and 0 (b) —3,-12and 0

(c) —3,12and 0 (d) 3,-12and 0

A circular sector of perimeter 60 m with
maximum area is to be constructed. The
radius of the circular arc in metre must be
(a) 20 (b) 5

(c) 15 (d) 10

The tangent and the normal drawn to the
curve y = x% — x + 4at P(1, 4) cut the x-axis at
A and B respectively If the
subtangent drawn te '
the ]El’lgﬂ'l of the

the triangle PA
(@) 4
(c) 8
3 2
35._[ (X +3x +::"‘."Fl)abcis equal to
(x+1)
(@ - 1 +c ~ (h) lIog(.wr+1)+c
(x+1) 5

36. |

(@ log(x+1)+c (d) tan'x+¢

cosec x

dx is equal to
cos? (1 + log tan ;J

(a) sin® [1 + log tan g} +c
(b) tan[1+log tan%}-c
(c) sec? [1 + log tan %} +c

(d) —tan[1+logtan§]+c

37. The

complex
(-V3+3i)1-i)

when represent=:

(3+v30 () (V3 +30) d

in the Argand diagram is

(@) in the second quadrant

(b) in the first quadrant

(c) on the y-axis (imaginary axis)

(d) on the x-axis (real axis).

numbes

38.1f 2x=-1+,/3i, then the value o

(Q=x%+ %0 =l =+ x$)%is equal to
(a) 32 (b) - 64
(c) 64 (d o

39. The modulus and amplitude of (1 +i~/3)® ar=

41.

42.

respectively

(a) 256 and g (b) 256 and 333

(c) 2 and = (d) 256 and L.
3 3
* TR
is
2x
(b) 0
(d) 2log5
Which one of the following is not true
always ?
(a) If f(x)is not continuous at x = q, then it is
not differentiable at x =a
(b) If f(x) is continuous at x =a, then it is
differentiable at x = a
(c) If f(x)and g (x) are differentiable at x = o
then f(x) + g(x) is also differentiable a:
X =y
(d) If a function f(x) is continuous at x = a
then xli—IPa f(x) exists

_[ ;\/-%f; is equal to

3 3
(-a) %sec‘1 [%—J +¢ (b) cos™ [%J+ ¢

(© —l—sec'1 x +c(d) sec™ —3 +c
12 4 4




£3.

45.

46.

47.

. If

If11=j':f2 X cos x dx,

then which one of the following is true ?

(@ L +1;,=

. n/2
x sin x dx and I, =I°

E
Y
(b) 12—11=§
0

(© Li+I,=

(d) =1,

f(x) s defined

f(x)=4x?-3x+1and
gy = SR =f00

¥k 3

[-22] by

then .[_22 g(x) dx is equal to

(a) 64 (b) —48

(c) 0 (d) 24

The area enclosed between the parabola

y =x% - x + 2and the line y = x + 2in sq unit
equals 51.
(a) 8/3

(c) 2/3

The solution of the

2

e X(y +1)dy + (cos” x + sin

subjected to the condition that y =1 when
x=0is
(@) y +log y + e cos? x=2
(b) log (y +1) +€* cos’ x =1
(© y +log y =e* cos® x
(d) (y +1)+ € cos* x=2
1 B | 1

I yeld— g t—adt

X x?'

..to oo with | x| >1,

48.

49.

3 50.

-5y +33=0
ga n the coefficient of
d y and the variance

52.

53.

54.

If f(x) and g(x) are two functions with
g(x)=x- L and fog(x)=x> —-l, then
X x
frix)is
(a) 3x*+3 (b) x2—~-1—2
X

) Lo @ 3x2+ =

X X

The derivative of a*** w.rt. a®”* (a > 0)is

(a) sec x asecx - tan x (‘b) Sin X atanx —SECX:

(C) Sinxa (d) asecx — fan x

For the given data, the calculation
corresponding to all values of varis (x, y) is
following

(x — X)? =26, Z(y - y)2 25,

Z(x-X)(y-y)=20
The Karl pearson’s correlation coefficient is

secx — tan x

(a) 0.2 (b) 0.5
(c) 0.66 (d) 0.33
If the variance of x =@y and regression

and

of y respectively are

(a) 0.6; 16 (b) 0.16; 16

(c) 0.3; 4 (d) 0.6; 4

The value of mean, median and made
coincides, then the distribution is

(a) positive skewness

(b) symmetrical distribution

(c) negative skewness

(d) all of the above

The volume of the solid generated by
revolving the region bounded by y = x* +1

and y = 2x + 1 about x-axis is

104

. 42 .
a) — mcu unit b)) —— cu unit
T ® T5

(c) % cu unit (d) None of these

The function x4/1 — x?, (x > 0) has

(a) alocal maxima

(b) alocal minima

(c) neither alocal maxima nor a local minima
(d) None of the above



55.

56.

57.

For the curve xy =c?, the subnormal at any
point varies as

o oF
(a) = (b) —

c c

2 3

¥ il
© = ) =

c* ¢

The acute angle between the line joining the
points (2, 1, — 3), (— 3,1, 7) and a line parallel

-t y=z_-;3 through

the point

(d) cos‘l{

The centre of sphere passes through fo
(0,0,0), (0,2 2),€10,0)and (0, 0,4

(a) [—f % zJ

Answer — Key

58.

59.

gl

1
(b) (1: Es 2]
1
(C) [E: 1: 2)

1
@ [E’ 1,—2]

If f(x)is an odd periodic function with perioc
2, then f(4) equals

(a) 0 (b) 2

(c) 4 (d -4

If A=[C(_)S8 i B}, then which of ths
sin® cosB

following statement is not correct?

(a) A is orthogonal matrix

(b) A'is orthogonal matrix

(c) Determinant A =1

(d) A is not invertible

. R is a relation from % 12,13} to {8, 10, 12

defii — L 3 ThenRlis
(13, 10)}

(C) {(10, 13), (8, 11)}

(d) None of the above

1. d 2. d 3. a 4, d 5. a 6. ¢ 7. d 8. b 9. ¢ 10. a
11. a 12. b 13. d 14. ¢ 15. d 16. b 17. a 18. ¢ 19. d 20. b
21. a 22. ¢ 23. d 24. b 25. a 26. d 27. b 28. b 29. a 30. d
31. ¢ 32. b 33. ¢ 34. d 35. a 36. b 37. ¢ 38. d 39. b 40. a
41. b 42. ¢ 43. b 44. c 45, d 46. a 47. d 48. a 49. c 50. ¢
51. a 52. b 53. a 54. a 55. d 56. ¢ 57. ¢ 58. a 59. d 60. a




